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AVS-302 B-16
B.A. Vth Semester Degree Examination
Applied Statistics
(Statistical Quality Control and Vital Statistics)
Paper - VI
Time : 03 Hours

Instructions to Candidates:

1)
2)

Graph sheets will be provided on request.
Simple calculators are allowed.

| Answer all the following questions.
3UNS oen 3,379 wuddAD.

1) Explain briefly registration method.
3, RBRcoBH IPTIW), FodeamoN D[OXD.
2) What do you mean by SQC ?
SQC oodiBesd 7
3) Define 30 - control limits.
30 - A0DoZ, 0 N3NY 9,85 wBD.
4) Define ASDR.
ASDR @ mﬁaﬁé Alelivial
5) Give any two advantages of statistical quality control.
033 e Q003,03 wdRYHue H0BD I,08RewEdriva) 3P10.
6) Define vital statistics.
RZes3 eodzolnd a8 wBaD.
7) Distinguish between defect and defective.
decd DHA) decaodnznddora FB RN 3920.
8) What are the limitations of % and R charts ?
X DB R 643 [edrie 9303 wdnIF) ?
9) Mentions two advantages of acceptance sampling plan.
WA AuBrdead wusR0RGE HVED F,0dncmdrid 391D.
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10) In a given year the crude death rate for a population of 2 lakhs is 8. Find the
number of deaths.
20th ek, IRFTS, 2 OF &@soadod 850, HUN BO 8 Q3. oY x50,
oD HBoD.

. II  Answer any.three of the following questions. (3 x10=30)

SUAT adnyde Hed 3,191 u3dAD.

11) Explain the construction of control chart. Mention its advantages.
Q003,59 33,3 CUDIFoDHR) JH3DAD. WO &, 0deeLIRI), 3920.

12) Explain gross reproduction rate and net reproduction rate with their merits &
demerits.
AW HTDRT® B0 D), A3 HIDLHRTIT BO BH1iY rbseSrbrondeodni
D3D2D.

13) Explain single sampling plan and double sampling plan.
2,0t3 QWBFECOD GUTROD D), BrHE IVWBEFe0D T DT DHDDAD.

14) Construct a suitable control chart for the following data and state your conclusion.
Sampleno.: 1 2 3 4 5 6 T 8 9 10 11 12

No. of
defective : 16 18 23 36 14 10 21 35 26 08 06 17

Fixed sample size no. =200
3N EEJS% 200D ai;aeqs Q003,09 233, eI 032D =rin MBCMFWQ
HewDd.
Nint: o :.-’oa.’;s: 1 2 3 4 5 6 7 8 9 10 11 12
decdodugriWZed: 16 18 23 36 14 10 21 35 26 08 06 17
2,3 dBdre g, n = 200

15) Calculate CBR, GFR & TFR for the following data

Age group Female population No. of births
15-19 83,796 2,300
20-24 71,100 14,550
25-29 72,650 16,740
30-34 75,920 10,220
35-39 75,100 5,250
40-44 71,625 1,432
45-49 66,660 93

Given total population during the year was 2,285,800.
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3¢Ns o33, CBR, GFR 3 TFR riddy, FomeRoD.

R0decrdom) S&G0oDT os] wRsned
15-19 83,796 2,300
20-24 71,100 14,550
25-29 72,650 16,740
30-34 75,920 10,220
35-39 75,100 5,250
40-44 71,625 1,432
45-49 66,660 93
& AT i) wIF0ad; 2,285, 800 Howh &RGENG.
I Answer any two of the following questions. 2x15=30

59NT odR)vde HUB I,3NOn w3dID.
16) a) Distinguish between CDR and STDR.
CDR )@ STDR ¢ 3w S3area) 390.
b) Compute crude and standardised death rates from the following data.
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Age CityA City B Standard
oroup Population | Deaths Population Deaths Population
0-9 49000 900 18000 440 25000
10-19 42000 446 14000 150 20000
20-39 55000 165 20000 80 30000
40-59 40000 480 16000 208 15000
60+ 15000 630 600 150 800
3INS TADT F2R), ), Vo3 T WoriY®), sorHBoD.
J0BRE|  B3p-A Se309-B D3
rboF) wizos) | SHTsrid &mEz0a) | Homnd| wdso
0-9 49000 900 18000 440 25000
10-19 42000 446 14000 150 20000
20-39 55000 165 20000 80 30000
40-59 40000 480 16000 208 15000
60+ 15000 630 600 150 800
17) a) Explainthe following terms.

i)  Process control and product control
ii) Chance and assignable causes of variation
& NS JVrida, H[DAD.
i) RoxTUn D003, B, ATID, 0303,
i) BRI DB, dodeezizwe UMD
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b) The following are the number of defects in 8 woollen carpets.
Carpetnumber: 1 2 3 4 5 6 7 8
No. of defects: 3 4 5 6 2 4 1 7
Construct a suitable control chart and comment on the state of control.

8 wwon® o HAYIR decanid $9NTods.
S0 21 §,2070a5; : 1 2 3 4 5 6 7 8
tecarid Hoad; : 3 4 5 6 2 4 1 7
2,0z adper] Jobo3, 3 233, Te3IF) Tedd Q0308203 23718 ried) Hed.
18) Discuss the various measures of fertility with their merits & demerits.
DG wied Fo=ZZad BONYR) Ve rbseSrbeandeodn 13320,
19) a) Explain the construction of P-chart.
P- 33, B SBDIToDHRY, HIDAD.
b) Construct ¥ & R charts for the following data and state your conclusion.
Sample: 1 2 3 4 5 6 7 8 9 10

number
X : 24 19 40 39 29 27 39 15 40 38
R. : 8 6 9 12 6 7 8 4 6 4

(Note : Forn=5,A,=0.577,D,=0 & D, =2.115
FYNI méﬁ% x @3 R wsﬁ,ﬁmrwq 03 Samh 3)53%} &399(—'0:{335131 3¢23,0.
AIrinte I 2 3 4 5 6 7 8 9 10

30&36
X, : 24 19 40 39 29 27 39 15 40 38
R : 8 6 9 12 6 7 8 4 6 4

(Note : Forn=5,A,=0.577,D, =0 & D, =2.115)
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